
Satz

Für n ≥ 3 gilt:

Z(Dn) =

{
{id} , falls n ungerade

{id, d
n
2 } , falls n gerade

Beweis: Dn = < d, s > mit

ord d = n, ord s = 2,
dsd = s ⇔ sds = d−1 ⇔ sdk = d−ks ∀ k ∈ {0, . . . , n− 1}

Dn = {id, d, d2, . . . , dn−1, s, sd, sd2, . . . , sdn−1}
Z := Z(Dn)

Annahme 1: ∃ k ∈ {0, . . . , n− 1} : sdk ∈ Z

→ sdk ist mit d vertauschbar

→ (sdk) · d = d · (sdk)
→ sdk+1 = dsdk | · d−k

→ sd = ds

Aber: sd = d−1s

}
→ d = d−1

→ d2 = id → ord d ≤ 2

 ord d = n ≥ 3

} ⇒ ∀ k ∈ {0, . . . , n− 1} : sdk /∈ Z

Annahme 2: ∃ k ∈ {1, . . . , n− 1} : dk ∈ Z

→ dk ist mit s vertauschbar

→ sdk = dks

Aber: sdk = d−ks

}
→ dk = d−k → d2k = id

→ n | 2k

→ ∃ l ∈ N : 2k = l · n

Da k ≤ n − 1 → 2k ≤ 2(n − 1) < 2n

} → l < 2 → l = 1

⇒ 2k = n

1.Fall: n ungerade

→ ∀ k ∈ {1, . . . , n− 1} : dk /∈ Z

→ Z = {id}

2.Fall: n gerade

→ dk ∈ Z ⇔ k = n
2

→ Z = {id, dn
2 }


